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(vii) FF-3T F W IR I e I FAfee B oy §
e 7T ¥ &)

(viii) IR0 qea Fruitor # R qed Y SrauRen H1 quiA
HifaQ |

(ix) TIYHE AGHT & T AGHT F Y Y H
FoiF i |

(x) TR 9 H1 oI HifSQ|

SECTION-B
(@vs-7)
UNIT-1
(FT3-1)

2. Write a detailed note on management accounting. (15)

Yo q@iHT W & fawga fewmoft fafaw)

3. Explain responsibility accounting. Also discuss the various

types of responsibility centres. (3+12=15)
IWQIIE A@ihT 1 quH Hifww | Wy @ fafa= yeR &
IaEfad 3 # fFawT s

UNIT-1I

(3HTE-11)

4. [Illustrate, how the liquidity, solvency and profitability ratios
are calculated and interpreted. (15)

faercor S for avaan, Ny awar 9o @rvgEar oUW

YR Sfefed au favafyd foear smar &
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(iv) Depreciation on plant and machinery has been written
off Rs. 18,750 in 2019-20, and no depreciation has
been charged on land and building.

(v) A machinery was sold for Rs. 22,500 (w.d.v. being
25,000), and no furniture has been sold during the year

2019-20.
(vi) Proposed dividend and provision for tax for the year
2019 were paid during the year 2019-20. (15)

31 A€, 2019 T4 31 A, 2020 F TAQ TH ¥Y A
wfl fafaes & frfafen gom-o1 | ad 2019-20 R
AwT varr faa R Hie

i 2019 | 2020 | amfierat 2009 | 2020
)| ®) ®)| )
wad d fsft |2,50,000 [3,12,500 | wRre 62,500 | 56,250
9% SEHIT W
T 75,000 | 50,000 | i am | 1,00,000 | 68,750
o amffa 12,500 | §9=1 T4 WEFRY | 1,12,500 |2,00,000
T AR 18,750 | 25,000 | wieR 15,000 | 12,500
oM @ 31,250 | 50,000 | Fraw 12,500 | 56,250
fafay R 35,000 | 65,000 | fafay IR 40,000 | 31,250
%7 fow 10,000 | 12,500 | e 80,000 | 56,250
TH 5,000 | 3,750 | o et 12,500 | 43,750
TRYa A 22,500 | 31,250 | 19 & qwE 12,500 | 31,250
YA ¥ TEUE | 25,000 § 30,000 | FF ¥ I 18,750 | 32,500
RitvE =7 6250 | 3,750
4,72,500 |5,92,500 4,712,500 15,92,500
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FHfafam g .

(i) ¥ 2019-20 ¥ ¥. 12,500 1 A @AWW A fwaw
™

(i) e o owie % w9 # 3. 2,500 WE g

(iii) T 2019-20 ® 4f7 1w THST A1 T R W w
et o man, fasht R Ay qon e e
sfafa ® smafa fawan o @ &1

(iv) a9 2019-20 § €= 1 WA R YR ¥. 18,750
T2 @ H o fn T @R fa qwm e ) oS
qeaga e 7@ fear mam)

(v) ®. 22,500 i FER (HA9fafaa g3 25,000) #F fash
H T SR T¥ 2019-20 ¥ A FE R 7 A=
T

(vi) o 2019 ¥ forq weafaa amwier qen 2 &g WEYE 9
2019-20 ¥ A I W A M

UNIT-111

(¥FRTE-111)

6. Write a detailed note on CVP analysis. - (15)
ot &t 4, favemo | fawga feoeft fafaq)

7. PQR Ltd. purchases 20,000 components per annum from an
outside supplier at Rs. 15 each. The management feels that
these should be manufactured and not purchased. A machine
costing Rs. 1,50,000 will be required to manufacture the item

within the factory. The machine has an annual capacity of
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